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neglecting the pump work.

!

(r) 'A closed vessel contains 2 kg. of CO, at temperature of 20oC and pres$ure of 0.7 bar. Heat-: 
is supplied to the vessel tili thg ga's acquires a pressure of 1.4 bar. Calcrilate the final
temperaturej, work done and heat added.. Take specific heat of gas at. constant volume - -

: as 0.157 kJ&g;K. 
, , ,,:. . (g marks),.,. 

., t.

..:'-
.' (ii). Derive SFEE ior diffi.rser and turbine. .. (7 marks)

, .r .rr. .' : ' i:;;'.::'. " '

. (b) , Prove the statement' No heat engine working betwpen two giveu temperature resenioire is

;. . .. l':: - -:;.:.;: r' 1,'r .'
. '', '- . . i '',i .."

III. (a) Explain the operation of Sl ensine whiqh.hag.oggr,no*er stroke in every qevolution-og';''- '.

crankqh"ft.ComparethiswithDieselengine:,.,:''- . : ,,r i 
;,,:,,,ai..,..,

I t -:.., ' ,, , :- ..'(15p4yls):,-.;:
.Or

(b) (i) W.hat is the use of Mollier cha* ? (f narks),;,i' '

(D In a Ra'rkine cycle, the steam at inlet to turbine rs saturated at a pressure of 35 bar and
the exhaust pressure'is 0.2 bdr. Determine the turbine work and rankine efficiency . '

(12 marks)

Turn over

(8x5=40marks)
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[4 x fS = 60 marks]
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